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Eight children can sit in each Iog.((
How many logs are needed for I
(a) 40 children (®) 56 Childre | {; 2
©) |6 children (@) 48 children ~

(e) 24 children (f) 72 children?

| (a) Divide 64 by 8. (b) How many eights make 567
(c) 16 divided by 8 (d) Divide 32 equally among 8 .
(e) Divide 80 by 8. (f) 8 shared equally among 8'
(g) 48 divided by 8 (h) Group 24 in eights. .

-

3 @72+8=0 - ()8+-8=01 (co 0+-8=H
(d B+8=28 () M+-8=4 (f) B+8=10

2 (a) Jem spent £40 on T-shirts.
How many did she buy?

(b) Sara spent £64 on
books and towels. She
bought three times as
many books as towels.

How many of each did
she buy?

Division: by 8
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